Y ARAY A

B RECKRICEIIREINIEHFEANILLD,

D 42000m = km
@ 74909 = kg 9
@ 1002kg = t

@ 1010g = kg 9
® 30600kg = t

® 2000m = km
@ 140kg = g
2050m = km m
@ 8t5kg = kg
8800m = km m
@ 830000m = km

@ 5kg 530g

@ 19kg 600g

@ 86800kg =

/24

® 8kg =

400000m =

@D 60km =

1t7kg =

6kg 5g =

@ Ikm 7m =

@) 48km =

@ 1300g =

@ 400000kg

@ 70600m =




Y ARAY A

B RECKRICEIIREINIEHFEANILLD,

@ 42000m = 42 km
@ 7490g = | 7 kg 490 g
@ 1002kg =| | t 2 kg
@ 1010g=| | kg 10 g
® 30600kg = | 30 t 600 kg
® 2000m = 2 km

@ 140kg = | 140000 g
®2050m=| 2 km 50 m
@ 8t5kg = 8005 kg
(©8800m =| 8 km 800 m
@ 830000m = 830  km
@ 5kg 530g = 5530 g

/24

® 19kg 600g =| 19600 g
@ 86800kg = | 86 t 800 kg
® 8kg = 8000 g

(® 400000m = 400  km
@ 60km = 60000 m
1t7kg = 1007 kg
6kg5g =| 6005 g

@ Ikm 7m = 1007 m

@) 48km = 48000 m

@ 1300g =| | kg 300 g
@ 400000kg = 400 t
@ 70600m = | 70 km 600 m




